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p. 32-33 Solving Systems by Elimination 3.2

Warm-Up: p. 32

Solve the following system by elimination
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What questions do you have?

Assignment p. 146 # 31, 33, 35, 38, 39

September 20, 2016

Solve each system by elimination. & Sce Problems 4 and 5.
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1), A hotel has 260 rooms—some single and some
dolibles. The singles cost $35 and the doubles cost $60.
Because of a math teachers’ convention, all of the hotel
rooms are occupied. The sales for this night are $14,000.
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Use Elimination Method to Solve.
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Systems with many or no solutions.
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